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048.

049.

050.

051.

052.

053,

054,

A2 3Bl 21 ey i),
A4 g org”

-(A) - agll 535 219 as] o saef]
(@ 2l eteiean 2 )5 oRd,

Al calda sdaasdl 21 Ml qul,

"R AR A glong AR
(A) ongllojolld qsud a4gRg,
(ef 2Pl w2 o 239,

G WA 1§ erg,
By ellal wellal Act i,

B) & @iy Q A g,
(D) sl 48R sl 219l Hdeqt,

14 saRie st awel wid dell (2 3uled] dlou odd] ollsel,

A2l umg
dsdlly
WA

wig
(A) -4, o-¥, $-dl, $-%

CAeY . M-, ol-d, $-Y, $-¢

May 1 pay cheque?
(A) At
© In

Sheep eat grass, ?
(A) Do they
(©) Doesit

It was very cold yesterday. It’s
(A) Warmed
(C) A bit warmer

(B) i-%, ol-d, -4, $-4
(D) 1-¥, 6i-g, 5-d, $-Y

(B) With

JD) By

.,eB)/ Don’t they

.(D) Doesn’tit -

today.

(B) Bitawarm

\1/6) A bit more warmer

‘It’s going to be late by the time he finish.’

: ion?
Which part in the above sentence needs correctlgﬂ ;

(A) It’s

S By the time

(B)  Going to
(D) Finish

CDE:2023-D |




: ce.
055. Arrange the jumbled words to form a meaningful senten

- I/a
Enrich / grammar book / must / such/want / my knowledge / as/

(A)
(B
©
(D)

056.
1y
@)
©)
@
=%
oy

057.
M
@
©))
4)
(A)

@D

058.

: t.
I enrich my knowledge such as must a grammar book wan

1 want a grammar book such as enrich must my knowledge.
I 'wanta grammar book as such must enrich my knowledge.

1 want such a grammar book as must enrich my knowledge.

Identify correct spelling from the words given below.

Infiltratre A " mn\”‘l\

Secondary '9@"0

Astronout

Exquisite

(1) and (2) are correct; (B)  (2) and (4) are correct
(3) and (4) are correct (D) All are correct. _

Choose the correct scheme to match the words with their meanings.

Approach

1) False impression

Delusion )] Unfriendly person

Eloquent k)  Move towards

Hostile @ One who expresses oneself efféctively
1-1,2-k,3-14-j : B) 1-k,2-1,3-'i,4-j
l_k>2--i:3_194_j . (D) l-jaz-ks3._ia4'1

How will you join the following sentences meaningfully.

The trunk was very strong. It could not be broken easily.

(A)
JB)
©
(D)

The trunk was too strong to be broken easily
The trunk was too strong to be not broken easily.
The trunk was so strong that it could be broken eaéily.

The trunk was strong enough to be broken easily.

059. The new episode \ on TV by now.

(A) must be telecasted _ (B) must have been telecasted
(C) must have been telecast - \(}7} must be telecast
CDE:2023-D | [10]
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060. What is true about the sentence given below?

“The high@you climb, the thinner the air wil| be.”

(A) Itis superlative degree, 48) Itis double comparison

C) [Itisindirect spee : :
© indircct speech. : (D) 1tis passive voice.
061. The corrosion is observed in sewer line due to
(A) - Methane 4B)  Hydrogen sulphide
(C)  Carbon dioxide (D) Carbon monoxide
062. The minimum pipe size as per the recommendation of Ministry of Urban Development
for the town having population above 50000 is
(A) 100 mm dia - AB) 150 mm dia
(C) 200 mm dia (D) 250 mm dia
063. Two samples of water X and Y have pH values of 5 and 7 respectively. How many times

more acidic sample X is than sample Y?

(A) 50 | @ 100 s

W (©) 150 - . (D) 200 ANl

064.  The population of small town is 10,000. The water supply to the population is 150 litres
per capita per day. Assuming that 80% of water supplied to the town is converted into

sewage. Hence, total sewage flow willbe litres/day.
@ (A) 1000x103 - (B) 1100 x 103
(C©) 1200 x 103 _ 7 (D) 1300 x 103 |
065. Reinforced concrete pressure pipe of class._ isto be tested at hydrostatic pressure
of 4 Kg/cm? for conveyance of water.
(@A) P _ (B) "Pi
< € P3 (D) P4 |

066. As per 1S-1742:1960, the recommended spacing of manholes on straight reaches for
sewer line of diameter greater than 1.5 meter is

(A) 250 meter ~ AB) 300 meter
(C) 350 meter \ (D) 400 meter

CDE:2023-D | [11] | [P.T.O..
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067.

068.

069.

070.

071.

072.

073.

074.

Which of the following is used to measure discharge?

(A) Anemometer (B) Current meter

(¢~ Venturimeter (D) All of these

What is bottom width of canal, which has side slope of 0.5 H: 1 V and cross section area

of 42 square meter with depth of canal as 2m?

(A) 20m (B) 21'm
(C) .22m (D) 40m

' Qo0 mm
Hydraulic mean depth of sewer having diameter of 0.80 m is | N
(A) 200 mm A AB) . 400 mm | {
(C)- 800.mm (D) 1000mm .

The amount which the selected contractor has to deposit before the start of work is called

4#K) Earnest money . (B)  Security Deposit

(C) Mobilization fund | (D) Capital fund

The type of estimate required when a sanctioned estimate is likely to exceed more than
5% due to any cause except important structural alterations is called

(A) Supplementary estimate AB) Revised estimate
(C) Quantity estimate P (D) Complete estimate

To construct brick masonry of one cubic meter, number of bricks reéuired are
(A) 300 B) 500 '
(C) 800 2 (D) 1000

Which type of crane is usually used in construction of residential high rise buildings?

(A) Mobile cranes - . ﬁB) Gantry cranes

\La) Tower cranes ‘ 7((D) Derrick cranes

, is provided at the junction of house drain with the public sewer or septic tank.
(A)  Nanhitrap - (B) Floor trap
(© Gully trap %) Intercepting trap

CDE:2023-D] : [12] : [ Contd



07s.

076.

077.

078.

What number of tread

| s will be there in 3 sin
3.0 m with 15 ¢cm hei

gle flight of stair provided for floor height of
ght of cach riser are

7o
A) 20 300 At
® BT 19 \(g—

©) 21

(D) 15 @

A masonry building can be made carthquake resistant by
4~ Providing corner steel
2. Providing lintel band

3. Providing plinth band

@ 2only _‘J(‘B) 2 & 3 only
© 1&2only . P 1,2&3all

Which of the following equipment is hot used for hauling?

(A) Tractors (B) - Bulldozers
(C)  Draglines - (D) Scrapers

Given that the scope of the construction work is with the contractor with desi ;

procurement, construction, commissioning & handover the project. Which _one of the
following type of the contract would be most preferred? '

é (A) EPC contract | ®) Percentage rate contract
' (C) Itemrate contract . \(})ﬂ/ Lump sum rate contract
079. Sinking fund is |
&) The fund for rebuilding a stru.cture when its economic life is over
(B) | Raised to meet maintenance costs
(C) Apartof the money kept in for structural modifications
(D) Amount to be paid by the tenants to authorities
080. Chlorine demand of water is equal to
(A) Applied chlorine
(B) Residual chlorine
(C) Applied chlorine + Residual chlorine
/6 Applied chlorine — Residual chlorine
CDE:2023-D | (13p . . [P.T.O.
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] Oxygen Demand (TOD), Biochemical Oxygen Demand
ca |

and (COD) is given by }
(3 TOD> coD > BOD

081. The relation between Theoreti
(BOD) and Chemical Oxygen Dem

(A) TOD>BOD> CcoD '
oD
(C) BOD>TOD>COD (D) QOD >CcoD>T

. i tural drainage, it
082. If DO (Dissolved Oxygen) concentration falls down tq zero in any na
indicates,

AX)  Zone of degradation (B) = Zone of recovery

(C) - Zone of active decomposition (D) Zone of cleaner water

083. The tolerance limit of BOD for discharging industrial effluent into inland suria

as per IS 2490-1974 is

(A) 20mgL (B) 30mg/L
(C) 100 mg/L : AB) 250mg/L - -
084. The maximum safe pefmissi_ble limit of sulphatcé in domestic water supply is
(A) 200mgL ¢ (B) 300 mg/L
AC) 400mgL (D) 50mgL

085. Which of the following equipment provides thrée dimensional positioning?
(A) Total station o (B) Digital theodolite
(©) Vernier theodolite v /(*D) GPS

086. « Ifalinc AB has FB of 40° and line B ' »
Obetween thése lines ¢ BC has FB of 10°, then what is included angle

(A) 50 o - (B) 100°
©) 150° _ (D) 210°
C(/ ;
087. is the process of establishing inte

- s rmediat i : .
straight line whose ends are intervisible, ® Points with a theodolite on a given

( (/ &) Swing\ing - (B) Transit

g)/ Lining in (D)  Balancing in

CDE:2023-D ] (14] —— ¢
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088.

089.

090.

091.

092.

093. -

&

094.

£

(C) GCSC

What is tangent length of a simple circular curve whose radius is 200.m and deflection

angle is 90° ?
1gie s o

: 22

(A) 100m (B) 200m Wt

(C) 400m (D) 800 m e

A scale of 1 inch = 100 ft is mentioned on an old map. What is the corresponding

(A) 762 mm o (B)’ 1000 mm
(C) 1435 mm : (D) 1676 mm

The length of Atal Pédestrian Bridge in Ahmedabad is metres
(A) 200 - . (B) . 250 '
(C) 300 e s (D) 350,

GIFT - city project is a joint venture between Infrastructure Leasing & Financial Services
Ltd (IL & FS) and - -

(A) GUDC - (B GSFC

(D) GUDM

The piers in water at Okha - Bet Dwarka Signature bridge is

(A) 14 ®B) 17

©) 20 =

095. Resistance of a material against reyersal of stress is known as
(A) - Tensile strength (B) Compressive strength
(C) Shear strength AB)" Fatigue strength
[15]  [P.T.O.

CDE:2023-D |

equivalent scalc? _ "\ o©° m
. g .SUM= ’
»_/(»A) lcm=3m (B) 1lcm=06m m=
¥ 2
(© lecm=9m (D) lcm=12m . 25u §woe
' 267 -
The total height of the Statue of Unity (including structure) is metre, located [
near kevadia colony of Gujarat state. 5
3y
A) 210 - - B) 220 —,
A | .. _( ) y %
_©) 230 (D) 240 -
e séY
The track gauge of Ahmedabad Metro Rail is ) %
e

LVCL EVCL INCL ENNCL N ey YL PNCL VYL YL YL I



096.

097.

098.

099.

100.

101.

e 514

LX)  Section modulus

i inis known as
The ratio of direct stress to volumetric strain 1S | | f Rigidity
Modulus of
(A)‘ Modulus of Elasticity (B)

isson’s ratio
(©)  Bulk Modulus (D) Poisson’s

: DL is M. The
: ; subjected to U
The maximum bending moment in the canlllcycr lt)le:rpree cled s /% of M
bending moment at a section 1/5th of the span from th

A 4 ‘ AB) 3
(©) 10 (D) 20

ST i i isson’s
The ratio of modulus of elasticity to modulus of rigidity for a material having pois
ratio 0.25 is '

(A) 0.4 B L6

. (D) None of the above

Two prismatic beams A and B are having same length. The one having larger
will be stronger in flexure.

(B) Moment of inertia

(C)  Area of cross-section (D) None of these

For no tensile stress occurred in a cirular colump of diameter ‘d’, resultant force must
fall within from the centre of column . ‘

F & ..
(A) d/A4 B) di3-

3
© d8 ) B e ' L4 a/u /6

A beam of span ‘L’ is fixed at both ends a i i |
; , nd carries a point load ‘W’ at its mj i
what distance from each support will be the point of contraflexure? O pelng At
(A) L4 B) LA M
/ ' |
(S 3L8

(D) s5L/8

[ Contq...



103.

A prismatic beam fixed at both ends carries _a uniformly distributed load. The ratio of
bending morﬂlt at n_]_id span to bending moment at support is

AT 0.5 (B) 1.0

© 15 (D) 2.0
104. Which of the following is/are example of kinématically determinate structure?
1. Simply suppbrted beam
2. Cantilever beam
3 Fixed beam
4,  Continuous beam ,
) 1 : B) 1&2
©) 3 (D) 1,2&4
105. Strength of wood in transverse direction as compared to that in longitudinal direction is
A) More . (B)  Equal ' E
©) Less , ' (D) Uniform
106.  Crushing value of good qﬁality aggregate should be
) <30% B 40%t0 60%
(C) 60%to70% - D) >70%
107.  First class brick when immersed in water for 24 hours should not absorb water (by weight) - .
more than ' :
(A) 5% : EAB) 10%.
©€) 15% e AP) 20%
108. The grade of Bitumen indicates its. ‘
W Softening point : (B) Penetration value
(C) Flash point ' (D) Ductility
109. An aggregate is said to be flaky, if its least dimension is less than __of its mean
dimension '
A) 273 & B) 3/4
3/5 ; : (D) s/8
CDE:2023-D ] [17] . " [P.T.O.
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110.

111.

112.

113.

114.

115.

116.

117.

'l‘] . |

/(A) Toughness

Hard (D) Fatigue strength
(C) Hardness

indicates “production
Batch No. on cement bags indicates of |

(A) Day (B) Fortnight -

th
(©) Week JB{ o

Which of the following is not an ingredi‘ent of the Epoxy Mortar
(A) Resin - . (B) Hardener

(C) Silicasand : }D) Cément

Polyvinyl chloride (PVC) is a
(A) Thermosetting material _ /B)  Thermoplastic material

(C) Elasto-plastic material (D) Rigid plastic material

The portion of the brick obtained by cutting a brick length wise in to two portion is called

(A) Bat . . (B) ~King closure — w

—p— ;g
L&y Queen closure _ (D) Bevelled closure
Which strength of concrete is maximum?
AA) Compressive . (B) Flexural
(C) - Tensile ’ : (D) Fatigue
Which of the following test is used for measuring workability of self compacted conc te?
rete?

LA Slump test
(C) V Bee test

(B)  Compaction factor test

(D) JRing test

\j\:’h/n{of the following code used to design concrete mix
LK) 18:10262 _ ) 15456

(C) 18:800 (D) 18:10265

CDE:2023-D] ‘ [18] e SR
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118. Dosagc. 91‘ superplaticizer in concrete shall be restricted to % by weight of
cementitious material as per 1S:456-2000 ;
(A) 05 B) 1.0
(— © 15 (D) 2.0

119. The most suitable type of vibrator to be used for column member is

AA) Needle (B)
(C) - Platform vibrator

Surface vibrator

(D) Formwork vibrator

120. If a slump value of a concrete mix is 80 mm, workability of the mix is said to be ° '_’L;
' . ) . < -
(A) Very low ’ (B) . Low So
(© Medium (D) High '

121. Which one of the following is not required in the .concrete mix design?
(A) Degree of quality control
(B)  Workability
(S Initial setting time of cement’

(D) Characteristic strength of concrete at 28 days

- 122, How. can you make concrete set faster?
(A) Addingalcghol B Addjng calcium chloride
_AC) Adding gypsum Ser s> By Adding sugar Serslouwd
'123. " Wide and deep cracks in concrete members may be repaired by |
+K&) Grouting ﬁ (B) Shotcrete or guniting
(C) Epoxy injection. '« (D) Allof the above

124, Consider the following strengths of concrete :
1, ‘Cub_e strength 3
2. Cylindér strength 7 __
3. Split-tensile strength
4. Modulus of rupture :
Thg correct sequence in iﬂzasi_nggr_d/emﬁhme_mgmg&
‘([; 3,4,2,1 - | NB) 3,4,1,2
© 4,3,2,1 W\ ¥D) 4,3,1,2

CDE:2023-D | ' [19] "~ [PT.O.
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125,

The purpose of lateral tics in the short R. C. column is to
(A)  Increase the load carrying capacity of column

(B)  Facilitate compaction in column

(©)  Facilitate construction

AD)  Prevent buckling of longitudinal steel

work in severe
126. Minimum grade of concrete recommended by 1S:456-2000 for RC wor
EXposure condition is .
, . N
./Pf(( M30 (B) M25 ; P
©) M20 (D) Mis5 5o,
127. In two way slab, generally which one of following reinforcement is not provided?
(A)" Main reinforcement (B)  Distribution reinforcement
' \,((3 Shear Reinforcement (D) Torsion Reinforcement
128. In aRCC beam side face reinforcement ig provided when the depth_o\fthe beam exceeds
(A) 300 mm (B) 450 mm
(© 700 mm D) . 750 mm
129. What Imposed load (udl kN/mz) shiould be considered fof a corridors, bassages, lobbjeg
& staircases in 2 Institutiona] building as per IS 875 (part 2)-198
A) 20 . ' /(Bj 3.0
© 40 D) 5.0
130. Spacing of distribution bars i an RCC slab (of effective depth as ‘d ) shall not exceed
(A) 2& or 200 mm, whichever is lesser MB) 3dor300 mm, whichever jg lesser
(C)  5dor450 mm, Whichever is lesser (D) 600 mm °
131 Which of the following stee] section is most suitable for a member Subjected to torsional
moment? ‘ .
/()r)/T ubular section (B)  Channel section
(C)  Angle section (D) Isection
' ' [20]
CDE:2023-D ]
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132.

134.

135.
136.
00095
Zaxeect

Intermediate vertical stiffencrs are provided in the plate girders o
AX)  Transfer concentrated loads (B)  Eliminate local buckling

(C) Eliminate web buckling (D)  Transfer UDL

Bracings are provided in a pitched moi industrial steel building to primarily resist which
types of force?

(A)  Dead load ‘ (B) Live load

(&~ Wind load (D) Earthquake load

In the case of structural steel sections, the minimum ratio of outstand to the thickness of
element in compression is specified to prevent

(A) Tension failure (B) Shear failure

(C) Bending failure | (D) Local bucking

In the retaining wall structure, in case of passive earth pressure, the' movement of wall is
(A) Away from the soil . AB) Towards the soil
(C) Not taken place ? (D) Both (A) or (B)

Sand drains are used to
(A) Reduce settlement < _,QB’{ Accelerate consolidation pfocess
(C) . Increase permeability ' " (D) Transfer load '
S

Grain size of a soil indicated that D10=0. 0005mm, D30 =0.003mm and D60 =0. 006mm. —

—

The uniformity coefficient of the soil is : /Oi‘f,fl————" n_
tfﬁ

/‘1}9’:’ 05 | ®) 20 5 0.0005% .

DX MeT (0 60 T\ & B0 s =
. 0.005 | ‘ R
o ,3,7-(——4;— 138 The c-orr?d sequence of the given parameters in @gﬂ_\cﬁng order of earth pressure ’%
Intensity 1s i
’52__ (A) Active, passive, atrest ‘ ,(B’)/Passive, at rest, active §
; ‘ (C) Passive, active, at rest (D) Atrest, passive, active ;
/ : {
g = 139. The notation "SC" as per Indian Standard Soil Classification System refers to E
. \{ ico) (A) Clayey silt (B) Sandy clay E
/. ©) Cla.yey sand By Silty clay é
CDE:2023-D] ~ [21] TPTO. 5



140.

141.

142.

143.

144..

145.

146.

147.

‘ i i is 15 cm,
the pavement 9 m wide and its crown is 15

If the difference in elevation of an edge of
the camber of the pavement is

1 in 30 o
(A) lin 60 (B) Tn : \{/
(C) 1ind5 () 1inl5

Desire lines are plotted in
i studies
(A) Traffic volume studics (B) Speed

(C) - Accident studies LD)/ Origin and destination studies

) g i overtakin
The minimum length of overtaking zone should be times the safe g

distance | _ ) 059
A 2 AB) 3 QL 57
© 4 ‘ I )R

Slab brldge is general ly preferred structural system for maximum span of

(A) 2m p : (B) 6m
G om P Bn

The most common counter measure use to prevent scour at bridge abutments is

"4KJ Sand bags (B) Cut water

' (C) Turf - (D) Riprap

What is the mgximum limit of super elevation for highWay as per fhé guidelines of IRC?

@A), 5% ‘ LB 6% A
h g

~«KC) 7% B\ (D) 8%

The centrifugal force acting on vehicle will be more when

_()o/ Radius of curvature is less (B)( Velocity is less
(s) Weight of the train is less o (D) None of the above

The rate of usage of the available parking space is called
Parking index ‘ (B)  Parking load
© Parking turn-over (D) Parking duration

CDE:2023-D | [22] | [ Contd...



148.

149.

150.

Which one of the following rollers is suitable for soil cement stabilized road construction?

(A) Vibratory roller 4 (B)  Sheep foot roller /@M‘Qod\,\\"”

(C) Pneumatic roller (DY~ Smooth wheel roller g "

Resonators are used in tunnels for the purpose of

(A) Dust control ' . (B)  Drainage control

(&)~ Noise control (D) Ventilation control

The power transmitted tlﬁ‘ough the pipe is maximum when head lost due to friction in the
pipe is equal to » ‘

&) 1/3rd of the total supply head (B) . 1/4th of the total supply head

(C) 1/5th of the total supply head (D) 1/8th of the total supply head

CDE:2023-D | [23] [ P.T.O.
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